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QUESTION 1

Which statement about temporary dbspaces is FALSE?
A. Temporarydbspaces are not backed up.

B. A raw table can be created in a temporarydbspace.

C. Tables stored in temporarydbspaces are not logged.
D. Temporarydbspaces can have non-default page sizes.

Correct Answer: B

QUESTION 2

Which role can create, alter, or delete trusted context objects?
A.DBA

B. DBSA

C. DBSSO

D. DBSECADM

Correct Answer: D

QUESTION 3

A storage pool entry can be used to do what?
A. Increase the size of a chunk.

B. Increase the size of the logical logs.

C. Increase the size of the physical log.

D. Increase the size of a storage space.

Correct Answer: D

QUESTION 4
Which option would be used with "cdr define replicate" to create a shadow replicate?
A. --backup

B. --mirrors
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C. --shadow
D. --synchronize

Correct Answer: B

QUESTION 5

Which of the following privileges is NOT valid for a table fragment?
A. ALL

B. INSERT

C. UPDATE

D. CREATE INDEX

Correct Answer: D

QUESTION 6

Which sysmaster table can be queried to find the logging status of a database?
A. sysdb

B. sysdblog

C. sysdatabases

D. sysdblogstatus

Correct Answer: C

QUESTION 7

How does the Deployment Assistant enable you to reduce the size of the installation to be deployed?
A. By limiting the size ofdbspaces.

B. By removing specific databases.

C. By removing specific product features.

D. By removing all free space at the end of a chunk.

Correct Answer: C

QUESTION 8
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When adding space to the storagepool, which correctly describes the type of storage which may be placed in the
storagepool?

A. Cooked file only.

B. Raw devices only.

C. Cooked files andRaw devices only.

D. Cooked files,Raw devices and Directories.

Correct Answer: D

QUESTION 9

Which statement about mapped user functionality is true?

A. Mapped users cannot execute distributed operations.

B. Mapped users are allowed to run with multiple names.

C. The DBSA can control the access to tables at a row level using security labels.

D. The DBSA can grant database server access to externally authenticated users with no local account.

Correct Answer: D

QUESTION 10
Which statement about the scope of UPDATE STATISTICS is true?

A. If the FOR PROCEDURE keywords are included but the name of any SPL routine is not specified, an error will be
returned.

B. If the FOR TABLE keywords are used without specifying the name or synonym of a table, the database will not
recalculate distributions for any table in the current database.

C. If the FOR TABLE keywords are specified with a table but without specifying a list of columns, the database server
will not recalculate distributions on all of the columns of the specified table.

D. If the FOR PROCEDURE specification, Table and Column Scope, and Resolution clauses are NOT included, then
the statistics are updated for every table and SPL routine in the current database.

Correct Answer: D

QUESTION 11
Which two statements are true for onbar only but not for ontape? (Choose two.)

A. It can apply external programs using filters.
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B. It can restart a restore from the place it failed.
C. It can back up to or restore from cloud storage.
D. It can restore data to a given point in time (PIT).
E. It can execute an external backup and restore.

Correct Answer: BD

QUESTION 12

What does the following task function do?

EXECUTE FUNCTION task("storagepool add", "/region2/dbspaces”, "0", "0", "20000", "1");
A. Creates a secondstoragepool.

B. Createsdbspace at /region2/dbspaces.

C. Invalid offset and total size forstoragepool add command.

D. Add the directory /region2/dbspaces to the storagepool with a beginning offset of 0, a total size of 0, initial chunk size
of 20 MB, and a high priority.

Correct Answer: D

QUESTION 13

Which $ONCONFIG parameter must be set enable parallel OnBar backup operations?
A. BAR_MAX_BACKUP

B. BAR_SIZE_FACTOR

C. BAR_PERFORMANCE

D. BAR_NB_XPORT_COUNT

Correct Answer: A

QUESTION 14

Which connection type can be used for network connections?
A. Sockets

B. Named Pipes

C. Stream Pipes
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D. Shared memory

Correct Answer: A

QUESTION 15

Which sbspaces statement is FALSE?

A. Sbspaces may be recoverable.

B. Shspaces can be of varying page size.

C. Sbspaces may be part of round robin fragmentation.

D. Shspaces have read, write and seek properties similar to UNIX functions.

Correct Answer: B
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